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l�FIi 7�yf=)m��	��:�NB8
h
A�
�o�F	G�N18

m
?k<>=�?�<>=�?CA�(
M���
 � h/2m

l]3�=�mIZ�*�HIA�
�o�F�N����	�
T � A

T =
πab

h/2m
. (177)

l]3�=	mMj�jClIA
(174)

?
(167)

8G; *�HIA
b=

√
al = h

m

√

a
GM

a.X87QA

T =
2πa3/2

√
GM

. (178)

j y�U�AG� � F�N����	��F	n	��U
��	�m	�Ln>F����&(��	7�<>=9Ad?:'�[��������	�! #"	$�%�l3�=
41
m

8.7.
� ��	�F�bLc
����:>F�b�c

( � P�� e= 0)
F&�;:�J�K�L � A��Ln r

A�N�����
�8
v
?�G#H�A

m
v2

r
=
GMm

r2
(179)l]3�=	m����

T � A T = 2πr/v
a�X 7QA

T =
2πa3/2

√
GM

(180)

?C^�v A ����� 2.F('��)��6�U)*87wyd_�m
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